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. The sum of two numbers is 40 and their difference is 16. What is the greater number?
al HEIT3 HT AT Yo § IR IeTT AW g€ §. TS HEAT FA;T §?

(a) 24 (b) 27

(c) 28 (d) 26

. The sum of two number is 59 and their difference is 11. What is the smaller number?

ar &I T AT 9R F 3R 3AHT AT 22 T TIEY TEIAT FAT 872
@) 21 (b) 24
©) 25 d) 23

. Five years ago the sum of ages of a father and his son was 40 years. Five years hence the
age of father will be three times the age of his son. Present age of father and son are.

e T Teel U AR 9T & 3H 1 AT 409N U1 HT F I i d1G [T o 37
9 & et =it gr el fdr 3R 9 & aoAe 37 4 §?

(@) 39,11 (b) 40,10

(© 41,9 d) 42,8

. 380 oranges are divided among 85 children such that each boys gets 4 oranges and each
girl gets 5 oranges. The number of girls and boys are.

380 AR @ 85 STl H 3T g dieT AT fF T qdh d5Fh A 4 A9 IR g qH
oS! &1 5 ARG fAe.oShr AR ofssh T dear #ar dr?

(@) 35,50 (b) 40,45

(c) 50,35 (d) 45,40

. A rectangular court 24 Meter long and 16 Meter broad has within it a path of uniform
breadth of 2 Meters running round it. What is area of the path?

T AR HeTel 24 HieX oFar iR 16 e =isr § 3R 3ds 3T 2 Aex wA
disrS 1 TEAT §. & HT SThA T 52

(@) 146 Sqm.

(b) 144 Sqm.

(c) 142 Sgm.

(d) 140 Sgm.

. A company contracts to perform a piece of work is 20 days and immediately employees
16 man at the end of 12 days” work is only half done. What additional number of man
should be deployed to complete the work as per contract?

Rough Work
% P

23



97. Gautam Buddha got enlightenment meditating under a peepal tree in: TUh FYUAT o Th HH 20 fed § T &1 31 o 31 389 16 AT o9m ]u. 12
uﬁ@wﬁg%ﬁﬁmmﬁgﬁﬁaﬂ@ﬁmlmﬁmﬁ ﬁ%mw%mgm.mmﬁmwm%wﬁﬁﬁﬁm

Lumbini b) G
(@) umbini (b) aya s o S
(c) Rajgir (d) Vaishali
6 b) 7
98. Ancient economist Kautilya helped which king in Maurya Empire: @ (b)
Al ST & R ST @ e Ao F wew R © 8 (@ 9
(@) Chandragupta Maur a/aeeared A 7. A container is filled by a pipe in 25 minutes and it can be empty by waste pipe in 20
Y 2 minutes. When the container is full both the pipes are opened simultaneously. How
(b)  Ashoka/312N& much time it will take to empty the whole container?
(c) Bimbisar/RAfFTaER T TH Uk U129 gaRT 25 fAsdie & sRar § 3 3@ T@el axel arer 989 ¥ 20
Aec & @rell &1 Jar .99 <l 1T § asfr e uisy @i G A g, fohder & &
(d) Bindusar/ ﬁw s o )
99. International Labour Organisation (ILO) has headquarters at which city:
. ) (a) 120 Minutes (A=)
IeRTSERT A HaTSel (TS Tl 3T ) 1 HEATeT TohE AT & g2 |
(a) New York/=g Ifeh (b) 100 Minutes (fA=Tc)

(b) Geneva/are¥ar (c) 110 Minutes (fA=1c)

(d) 80 Minutes (fR=2)

() Turin/eReT ) o
> 8. What is the area of four walls of a rectangular room which is 12 Meter long 9 Meter
(d)  Milan/freRT broad and 4 Meter height?
PR HAY TRT EraTell T &TAhel Tehcell S 12 #Hiex o 9 FHiex diar
100. Government is proposing to merge several schemes including ESI Scheme, EPF, etc 4 o Gl g S
into a code called: 4 C 352
WHR STHITS JiolAT, § O TF, S 3T IISTATT I TAfPT I Th I & &9 & (a) 164 sq.m.(3.#T)
ML el W faaR &Y @ §; 3T oA FT §7? (b) 166 sq.m.@.)
(@) Wage Code/ﬂa?{& COES (c) 168 sgq.m.(3.#Y.)
(b) Industrial Code/3cI1T HIg (d) 170sg.m.(.HT.)
(c)  Social Security Code/HTHITSTH qem A1, 9. There .is 560 Cubic Meter of Air in a room which is 3.5 Meter high. What will be cost of
carpeting the room @Rs.3/- Per Sqm.
(d)  Factory Code/Hadr 15 Teh FHRT S 35 HIeX 39T § 3qA 560 TAAT gaT ¥ 3 T ui A & X A
3HA HRUC WO T T Tl aam?

(@) Rs.(%.)430/-
(b) Rs. (%.)480/-
(c) Rs.(®.)400/-
(

d) Rs. (%.)5880/-
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10. 30 Men can do a work in 27 days. In how many days 3 times greater the work will be

11.

12.

13.

done by 18 Men?

30 3T foRell 1A Y 27 et # Y Hehd &, 30Q faeT [T 37 FrA 1837 fohcdal
st 7 FEr?

@ 125

(b) 130

(€) 140

(d) 135

The cost of sugar is increased by 25%. How much consumption of sugar should
bereduced so that there is no increased in expenditure.

At T AT 25% Sg =Y. A F WU Fdelr FH R gen R @ H Al
EERS U

@ 30% (b) 20%

(©) 25% d) 22.5%

Kamal sold his Mobile at a profit of 12%. Had he sold it for Rs.18 more, he would have
gained 18 % .What was his cost price.

hAT o HIAT HIESeT 12% & HoAh TR F1. IR 3H 38 AR 189 3if&H A a=
gIaT dl 38 18% oITeT BIT. 3HHT T Hed fehcdelr A2

(@) Rs.(®.)475/-
(b) Rs. (%.)400/-
(d) Rs.(®.)375/-

(d) Rs.(%.)350/-

The hour and minutes hands of a clock meet together every 63 minutes. How much the
clock gain or lose in a day.

T "I & e 3N [Aee dr gSAr godsh 63 fee & Aech § o s A ud s
Aee 3mr ar i Iordr g2

(a) Losses (91%) 55 Minutes (f#.)
(b)  Gains (313Y) 56 8/77 Minutes (TA.)
(c) Loses (dI) 56 Minutes (TA.)

(d) Gains (31T3T) 56 Minutes (f#.)

92. A monkey is at the bottom of a 30 feet long palm tree. In each attempt, it jumps 3 feet

93.

94.

95.

9.

and slips back 2 feet. In how many attempts the monkey will reach the top of the tree?
Teh Secd 30 BT 3 A5 & US & oI5 & U §. Yods G & a6 3WE Hadm ¢

2T &I 3T S & fohds garr 7 9 95 & Ry | gga e

(@) 20 (b) 24

(c) 27 (d) 28

The train Arunachal Express introduced from New Delhi to Arunachal Pradesh
terminates at which station in Arunachal Pradesh:

BT & & a3 ool ¥ 3T U & fOT S 3Rumadvaayy IorlY =Y § a8
3PUTTTS 9T # fohd TEAT I FHATCT gldl 87

(a) Tinsukia/ﬁfﬂﬂ%m

(b) Naharlagun/ﬂ%'l?ﬂlf{,l,?f

(o) Dakargaon/gmu'la'

(d) Shillong/freeiter

In the second world war which the following countries were on one side called Axis

powers:

ciachy faea gg & $id § 41 oieg 'viead dlay &gl STar °T, Teh o A?
(@) Germany, France and Japan,/ ST, I, SITATeT

(b) Germany, Italy and ]apan,laifl?-ﬁ, 32??[ , SITqTel

(c) Germany, France and Italy, /ST#e1T, I, $Tair

(d) France, Italy and Japan./ %TH, $¢oll, STATeT
Who is the author of book ‘Kamayani’?

“HTATIS & TRIAT i 67

(a) Jai Shankar Prasad/ 33 /e JHTG

(b) Ramdhari Singh DinkarRTHERT &g T
(c) Mahadevi Verma/ #gl¢ar aAT

(d) Nirala/ foRTem

Which of the following is not associated with Harappa Civilization?

§STUT TEPI o SaTH & il Foeotl o6l Wcl?
(a) Mohanjodero/ATg=aircl

(b) Kalibangan/aTeiearet

(c) Kushinagar/&eldr
Pl

(d) Lothal/@tder
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88.

89.

90.

91.

AHY A W F TR 15 fhellddley 3ccR Srar § 3R i aiRg\m HzaR 10
fpel#fleX ST &. 38 o1 J§ GHEI0T Il & AR 5 FhcllAfiey Toiel & 3d # IF
R HsohY 10 FhellHIey Terell 8. 319« TR & 379 dg b feem # ¢

(a) East'Ia

(b) West/aTea#H
(¢) North/3ccX

(d) South/af&roT
Which one of the following words will be placed last in the dictionary:
SIH ¥ el TT A AsGhIY H 3 H HTTM?
(@) Aback
(b) Abacus
(c) abandon
(d) Abash
Which one word cannot be formed from the letters of the word ETHNOGRAPHIC :

elsc ETHNOGRAPHIC ¥ bl TT AsE T8 do7 ThdT?
(a) EARTH

(b) HEART
() GEAR
(d) GARMENT

In the following questions, a letter has been skipped after every letter. Which of the
following observe this rule:

frafaf@a el & AT & gds 3eR & a1g vs 3HeR oI5 faar ar B i ase
sq 9 1 9ree aar g?
(@) ACDFH (b) LNPQS

(c) ACEGIK (d) GHJKM

Select the correct set of symbol which fit the given equation:

o few arv Fefentor & g A0 e & #id @ T oEEre
5035=20

(@ +-x (b) x+x
© -+x @) x+-
20

14.

15.

16.

17.

A Man’s rate with the current is 12 Kilometers / Hours and the rate of current is 1.5
Kilometers / Hours. The Man’s rate against the current will be.

Ush <gfad & ORT 9aig & a1y afa 12 fFaA). 9fa ger & 3w orr &% afa 1.5 &
gfd geT & 9T & Aeg 39 =afea & aifa «=ar gefre

(a) 13.5 Km/Hours (for.#T. gfe ge)
(b) 10.5 Km. /Hour (fo.#Y. iy ger)
(©) 9 Km/Hour (.. 97 ger)

(d) 11.5Km. /Hours (f.#. ufa ger)

What will be the surface area of slab of stone which is 4 meter long, 2 meter wide and
0.25 meter thick?

4 HieX oFs, 2 Hiex 9I3 3R 0.25H X Al FTold & Tdg FT &TBcl Tohdell gIIT?
(@) 20 Sqm.(T.HT)
(b) 18 Sqm.(a.#T.)
(c) 19 Sqm.(a.#T.)
(d) 21 Sqm.(q.#)

A Motorcycle travels 20 Km. per Hours faster than a Scooter over a journey of 600 Km.
The Scooter takes 15 Hours more than the Motorcycle. The speed of Motorcycle and
Scooter in Km/Hour respectively are.

T HIEX TSPl Ush Tohed HI Jolell A 20 fohall. 9fd er samer dst Fes 600
A, 5 gt a7 & §. TheX HAlexdsioher S Jolell # 15 Hel SAET FHY Al .
ArexaTsihel 3R TheT T el shaAer: gfa feheleiey fohaelr g2

(@) 35,20 (b) 45,25

(c) 40,20 (d) 60,50

Find the value of x in the following proportion 75: 3 = x : 9

IGESICITC] AT H X FHTANT §d10:

75:3=x:9
(@ 95 (b) 135
(c) 225 (d) 150



18.

19.

20.

21.

The price of Petrol is increased by 10% causing decrease in consumption by 5%. What
will be the effect on income?

3TRYCITIRT FIAT 10% d¢ ST & df 3R @Id 5% °e ATl §. STEINT W FT
JHTT YT,

(a) Increase 5% &M
(b) Decrease 4.5% €T
(c) Increase 4.5% &M

(d) Decrease 5%9eaT
A goat is sold for Rs.440/- at a loss of 12%. What was the cost price?

Teh ST 12% o ©IC W $440/- H 971 9141, 3HHT T Hed F41 A2
(@) Rs.450/-%.
(b) Rs.500/-%.
(c) Rs.480/-%.

(d) Rs.452/-%.
Find the compound interest to the nearest paise on Rs.400/- for two years at 5%.

TA00 TR 5% o e & ar av &7 A =TT fAdrei(Asidren 39 a®).
(@) Rs45%.
(b) Rs40%.
() Rs4l%.

(d) Rs.40.50%.

Find the annual income from an investment of Rs.37250/- at dividend of 4.5% stock,
after payment of 4% income tax.

4% STARH ¢FH S & 9IC F37250/- & Telh H AU W AN 3T el Ife
3aR4.5% fBfase &er .

(a) Rs.186.25%.
(b) Rs.1609.20%.
(c) Rs.3166.25%.

(d) Rs.1600%.

80.

81.

82.

83.

84.

85.

86

87.

Coal, Lignite, Diamond

(@) Non-Metal/318Tq

(b) Sand/dTe]
(c) Graphite/AHIST
(d) Gold/a=T

In the following questions(81 to 85) four words are given out of which three are a like
and one is different. Choose the odd one.

T 818 85 H IR s fev aiv § 5w faa & gaAear § 3k & @ & e

ASE I e
(@) Pear (b) Litchi
(c) Guava (d) Orange
(@) Deck (b) Mast
(c) Bow (d) Port
(@) Tomato (b) Potato
(c) Bringal (d) Cucumbar
(@) Mustard (b) Olive
(c) Garlic (d) Seasam

(a) Football (b) Hockey

(c) Table Tennis (d) Cricket

. A boy introduced a girl as the daughter of the son of the father of his uncle. The girl is

boys:-

UH W5 o Th o$h F IRTT &7 g9 FEl o ASH 380G qrar & e & g7 5
9ET B oSl R #H of5eh & shiel oelr?

(a) Niece/sTcirsiT

(b) Sister/dgeT

(c) Cousine/Ta dg«T

(d)  Aunt/=IT=r

Lokesh starts from his house and goes 15 Km North and then turned West and covered
10 Km and then turn south and covered 5 Km. Finally turning to East he covered 10
Km.In which direction he is from house.
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74. DDT is used for controlling which :-
ST 3 & foreeh QehUA & AT 3TANT foham SArem &7

(@) Mosquito Breeding/HTGI Holelel
(b) Weed/STaTelT T

() Ant/drEr

(d) Fly/FAerdr

75.”A” Class fire Extinguishers are based suited for dousing which type of fire ?

T g & I Ee RE 3T A g & fIT 3l g
(a) Petrol/dgier (b) GasAtH

(c) Wood/elest (d) Electricity/fSsrelr

76. How many meaningful words can be formed using letters of words ALEP ?

EGALEP & 38R I 39ATT T hdel T1dF UAeg d Thd 87
@ 1 (b) 2
() 3 (d) 4

In the following questions(77 to 80) choose the word that has same relationship as

among the three words:-
TR 770 80H VN Usg o S U 0 e ereel @ FEawy 1@ gl
77. Bhopal, Itanagar, Gandhinagar

(@) Amrisar/3/H5daY (b) Allahabad/gelgrldlg
(c) Vadodara/dgier (d) Patna/¥cer
78. Lira, Dirham, Yuan
o, feted, g3ire
(a) Knesset/FaAETHT, (b) Dollar/3TeR
(c) Jirga/faam (d) Iran/33TeT
79. Blue, Green, Violet
(@) Black/erell (b) White/33Tell
(c) Orange/=TIEaM (d) Colour/RaT

18

22. Coins of Rs.49/- were divided among 150 children. Each girl got 50 paise and each boys

23.

24.

25.

26.

25 paise. How many boys were there?

T.49F @k 150 d=dat H di¢ 0. GAF oI5l I 50 T 3N 9+ oIzah i 25 3
e, o5 fohaer a2

(a) 46 (b) 106
(c) 104 (d) 100
What will be the base of a triangle whose area is 250 Sqm. and height is 20 meter.

T st fSaehr Farg 20 Hlex & IHAT e 250 997 #IeX &) TR YR fehcelr
gram?

(a) 20 Meter #IX
(b) 30 Meter #HleX
(c) 25 Meter #HIX

(d) 35 Meter HIX
What will be area of the surface of a sphere whose radius is 1.4 cm?

39 M & Fdg 1 &b fhdelr gron fraeh Bsar 1.4 d& #Hiex 82
(a) 24 Sqcm. FIT T,

(b) 24.64 Sqcm. T J.AT,

(c) 24.24 Sqcm. FIT T

(d) 25.24 Sqem. 33T T,

A solution of salt and water contained 15% salt by weight. After 30 Kg. water evaporate
the salt is now 20% only in the solution. What is the original quantity of salt?

alell 3R FHE & Teh "l H AET & 36[AR 15% b §. 30% Tl iy g Sl &
TG el 7 FAHF 20% . THG T Hel A Fhcell §7?

(a) 30Kg. fr.am. (b) 100 Kg. T

() 120 Kg.f.am. (d) 80Kg.f.am,

Find the number such that if it be added 12 times to 60, the sum will be 780.
HieT T &7 § TH 1291 60H S8l W 780 81 SIM?

(@) 50 (b) 60

(c) 65 (d) 70



27. The sum of ages of a father and a son is 60 years. 10 years ago the age of the father was 70. Mercalli Scale is associated with measuring :-

28.

29.

30.

31

3 times the age of the son. What is the present age of the father? ‘Aol Tohol' hT el & AT T I QAT §7
T O 3R 3o 99 & 37 HT T 60aY §. 10 Hiel Ygol T &1 37 49 & 37 4

e ot o e B N (@) Gravity/ITecd
. TAATH 37 FIT 872

(a) 35 (b) 45 (b) Valcano Temparaturelo-dlﬂldi{g'\l AT AT
() 30 (d) 40 (c) Earthquake Intensity/ﬂﬁq?-ﬂa'aT
There are 429 Man . i ’
he goes and 715 Apples. In how many children’s both can be equally (d) Vacuum/R=IeT
divided?
429 3 3R 715 AT F Y goat F ST FieT T GHAT &7 71. The term Bryophyta is associated with :-
‘sArITer foeeT 7 fhd @ HHefEd g2
(@) 429 (b) 715 s e
(c) 143 (d) None of the above. (2) Zoology/Stefaiiel
9 men working 7 hours a day take 12 days to complete a piece of work. If 14 boys (b) Entomology/@refater

working 6 hours a day start doing the work how many days will take when work of one
man is equal to that of the two boys in the same time. (©) Botany,/J-TEUTRMET

9 AT 7 8¢ widfes A e Ueh S & 12 Gl # qU A §. 30R14 o5 6 6
gfafed &1 FT O 3@fhda fod o9 Sgive 3eHT ardsahl & JUel HIH
HehaT 817 72. Book ‘Zest for life’ is authored by :-

(d) Pharmacy/AYSTITET

(@) 10 days feeT ‘SEC B A3E fhde fordga ford?

Ashish R fro 3
(b) 16 daysﬁ?—[ (@) Ashish Roy/31RIY 1T

(c) 12 days fesT (b)  Emile Zola/TfHer Srem
(d) 14 daysfeaT (c)  Zahid Hussain/3Tfge §1ﬂ?r

The sum of two numbers is 53 and their difference is 11. What is the smaller number?
&l TEAT3 T AT 53 3R 39 3iaT 11 §. O &7 AT &7
(@ 21 (b) 22

(d) Steev Waugh/F1a arg
73. Name of Ritu Beri is famous in which field of work :-
‘R S 77w &7 F T 82

(© 20 (d) 19 o
(a) Modelling/ATsfelar

. What is the number after removing decimals from 0.132 x 500 ?

. b) Acting/31fHeTg
0.132 x 500 & AT gelel & §IG TEAT FAT gt (b) Acting

(a) 132 (b) 500 (c) Writing/cl@sT

(c) 066 (d) 1325 (d) Fashion Design/thelessTgsT



64. Vitamin D deficiency leads to less absorption of which of the following:- 32. How many numbers between 200 and 500 are divisible by 13?
IETTAST ST 1% Fof1 A W Tcd & AT A F4AT 8 ol 77 20031R 300 & drer 13Q FeTole @ arelr e TEaTT #2

(a) Iron/dllg (a) 13 (b)y 15

(b) Calcium/&ferrga

(c) Phosforus/®ERRE 33
. . ,
() Todine/3madie station whose platform is 90m?
. . . L 40 forelidTeY 9fd ¢ Fr ITWAR & ol @ 60 AL oTF6l ol I 90 HIeX ofFd T Fl
65. National Institute of Virology is situated at :-

TereTol 3fecye 3% faRielis el eud g2 IR el H el aad e@rem?

(a) Pune/EI,'UT“ (a) 12 sec ¥hs (b) 13.5 sec OHS
(b) Hyderabad/geTaTe
(c) Bangalore/daTelx

(© 23 d) 38

. How long will a train 60m long travelling at 40 KM per hour will take to pass through a

() 7.5sec A3 (d) 18 sec O3

34. If radius of a circle is increased by 5%, how much increase will be there in its area in

(d) Mumbai/ﬂﬁé percentage?
66.International Yoga Day is celebrated on which date:- 3R e Jed for FIsam 59 arer & ST ot 3E ahe H Elﬁg‘r grefr?
HedrSErT 197 feaw fra &t Aarar arar g2 @) 5% (b) 10.25%
(@) 20 June/SfeT (b) 21 ]June/SfsT © 15% (d) 10.5%
(©) 22]June/SfeT (d) 12 ]July/o TS 35. If the radii of two spheres are in the ratio of 1:2, what will be ratio of their surface area?
67. The name Mahathir Mohamad is associated with :- gfe e et & Bar &1 3feqaTe 1:2 g, ar 3% Tdgieh aF%hd & 3feIATe giar?
AR AlgHG TH SISt 672
.ﬁmﬁ""% (@ 1:2 by 1:3
(a) Indonesia/gSIATAAT (b) Malayesia/HeI T
(© 1:4 d) 1:8
(c) Philipins/fhferdia (d) Singapore/@?'ngT

36. Which of the following does not fit in the series:
68. Vikramshila Gangage Dolphin Sanctuary is located in which state :-

RashaARIe 1T Sferfther Sl fhw T &2 faetifenet 3 it Aol & fove et giar
(a) Bihar/fEgR (b) West Bengal/d Sarrel 318, 368, 345, 395, 372, 422, 400, 449
(c) Aasam/3HHA (d) Odissa/3nfsam (&) 568
69. Bihu is celebrated in the state of :- (b) 442
fSg ud foh o7 & FHaTT ST &7 (c) 400
(a) Odissa/3Nf32m (b) West Bengal/d.s3TTel (d) 395
(c) Aasam/3HHA (d) Jharkhand/AREUS
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37. Which of the following does not fit in the series:

38.

39.

40.

fAeeAifoha & &l Aoft & fhe A8 grare
1,1,1,4,2,1,9,5,1,16,

(@) 4 (b) 9
© 16 d) 5

On dividing a certain number by 223, the remainder is 79. If on dividing that number by
179, quotient is 315, then what will be remainder?

Ueh TEIAT & 223 F QA e 9T AV 79 gIdT §. 39 &A1 ar 179 ¥ f[smaha
Ll AT 315 81 df 3TRT AV FAT ram?

(@) 113, (b) 115,
() 227 (d) 122

Three partners X, Y, and Z invest Rs.800, Rs.900 and Rs.1150 respectively in which they
earn a profit of Rs.969. What will be share of each respectively?

T AEleR X, Y, 3RZ $aers.800, .900 3iR%.1150 f&aer &=d § 3R 3¢ $.969 &1
T BT &, 3oToh shATER 3 & ghar?

(a) Rs.%.272, 306,390

(b) Rs.%.270, 306, 391
(c) Rs%.272,306,391

(d) Rs.%.270, 306, 390

Abdul invested 1/34 of his capital at 7%, 1/4th at 8% and remainder at 10%. At the end
of the year he got an income of Rs.561. How much capital (Rs.) did he invest?

gl o 3Tl Yol @ 1/3871917%, 1/4 #11918% WX AR AT 10% TR FIel & 3
H . 561/- 3THCT g%: 38 Tohclell Gait (3. #.) ofer &r?

(@) Rs.6900

(b) Rs.6000

() Rs.9600

(d) Rs.6600
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60. Which Poet has recently being selected for Saraswati Samman ?

61.

62.

63.

gl # foha &rdl &l IEadl A & fow g1 arar?
(a) Mihir Sen/fAfgT @1

(b) Sitanshu Yashaschandra/f&dr T TG

(¢) Jhumpa Lahiri/gI&dr CUREY

(d) Kumar Biswas/®HAR foEara

Krishnadev Roy is associated with which Ancient Empire :-

FSUIed T fohg T AT @ o=y @A &7

(a) Vijay Nagar/fasrg sTer
(b) Bij apur/@l?ﬂ'l'i'\"
(c) Chalukya/aTelsd

(d) Pratihar/9fagR

The First Five Year Plan was based on P.(C) Mahalanobis Model which emphasized
on:-

9 & AgAeT Alger W IMUTRAYIH Taasiy A= & fFg W IR @r =r ar?
(a) Agriculture/®T¥

(b) Industry/3ImT

() Poverty Alleviation/JRI&T fAarRoT

(d) Population Control/STeTH&IT farz=oT

One Railway Station has recently been painted with Mithila Style Painting by 200 Artist.
Which is the Station?

gl &1 # Ueh Yoid T &l 200 FhellhRi GarT TARYST Aol & T 7 de fomam amr
g, diT AT 82

(a) Darbhanga/GI#aT
(b) Barauni/sRisir

(©) Madhubani/HYs=iT
(d) Raxaul/RF&ter
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55. Ajb-e-zarb operation against Terrorism was launched by which countries:-
forar ger & 3mdfehal & 9% *3fee-u-ae AT Temar?
(a) Afganistan/3THaMTeEdTeT
(b) Pakistan/dTfehEdTel
(©) Iran/XTet
(d) Saudi Arabia / ¢T3RS

56. Transparancy International is associated with Global Watch on which issue:-

‘TN Selerdor faed & ffd FHTr 9 Aok @dT §?
(a) Terrorism/3TcIehdlg

(b) Pollution/9gyuT

(c) Corruption/HsCAR
(d) Population/STAHEAT
57. Which of the following country was found to be the Happiest Country last years:-

oo a¥ fhg T T Fad @I < 9T =T A1?
(@) UK/ .

(b) USARgTHT.
(c) Norway/aTd

(d) Sweetzerland/EdTcoteig

58. India is helping which country in “Matree” Super Thermal Power Project ?
AT G YA Gy WisiFe EaRT R R 230 T Heg R 6T 872
(a) Nepal/adrer
(b) Bangaladesh/S3Tereer
(c) Bhutan/#cTeT
(d) Pakistan/dTiRhEdTeT

59. Our Prime Minister is currently Member of Parliament(Lok Sabha) from which
Constituency ? J4TT FAT oheh [T & fohe 817 ¥ TG TeTT &2

(a) Vadodara/dsier
(b) Lucknow/eldel3
(c) Varanasi/aRTorHT
(d) Ahmedabad/31gHcTdI
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41. The compound interest on a certain sum of money for 2 years is Rs.420 at 10% per
annum. What will be simple interest at the same rate and for the same time?

RAT TH W 2 a8t #H 10% S A I $.420/- . 38 a7 W 33 g8 & fov

AT STTST fohdaT gram?

(a) Rs. 410 ¥4 (b) Rs.380 ¥,

(c) Rs. 400 ®9. (d) Rs.375 %93

42. If X=12 and Y=4 the value of (x+v)*/Y will be :
3R X=12 3R Y=4,dT (x+v)X/Y T AT AT gHEI?
(@) 5096 (b) 2048
(c) 4096 (d) 2096
43. What least number must be added to 8961 to make it exactly divisible by 847
a¢ Hld @ GO OIS Hewr § O 8961 H ST S A 84 ¥ quid: i &
Sraaf?
(a) 37 (b)y 27
(c) 17 (d) 57
44. How many numbers upto 125 are divisible by 8 ?
125 deh 8 fIsTreid glel dTell fohclalr FEAT &2

(@ 10 (b) 12
(c) 15 (d) 16

45. Which one of the fruits does not belong to a group formed in certain way:-
Th TIT RE A Flel AN Bl IT F 3T &2

(a) Apple/dd (b) Banana/delT
(c) Peach/3mg (d) Fig/3siRk

46. Which of the following Authors was selected for 29t PEN/MALAMUDE Award for
Excellence in short story:-

I FQlaAdT H 3cadAdT H 299 9T / HIFS [RERR & AU fFa oi@er a1 g1 arar?
(a) Arundhati Roy 3&erdr 7,

(b) Jhumpa Lahiri ST CURSE
(c) Robin Sharma fseT e
(d) Deepak Chopra &rdes aT9T
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47. Which part of the Constitution of India contains provisions on Fundamental Rights.

gfawursT & forg amer 7 Ao 3fRer anfaer €2

(@) Part/&TdT-1 (b) Part/&TaT-11I

(c) Part/&#HATT-IV (d) Part/&HTT-1I

48. Lyrics composed by which one of the following poets is National Song of Two

Countries.

fora dl &1 T ar ot & TdT AT g2

(@) Igbal /ZehsTel

(b) Rabindra Nath Tagore RfdegeATr &M

(c) Sarat Chandra Chatopadhyay /2Rd e TEUATEATT

(d) H.S. Tennyson / Ta.TH.cfaAdT
49. Who among the following won Wimbledon 8 times:

fraat 8 IR fdaeissT &1 f@de Siar g2

(a) Bjon Borg/ SSif arel.
(b) Roger Federer/RTSX 13X
(c) Serena Willliams/&=TT fafeersFa

(d) Venus Williams/dle1q fafeersrea

50. The First modern Olympic Games where held in which place?

3MYforeh NS Yol TATAUA Fgl gaT AT?

(a) RoamRTH (b) Athens/Tdd
(c) Paris ARH (d) London/cleeeT
12

51.Which of the Metros was declared World’s First Green Metro?

T A o1 faed &1 yud N Al g T fhar = g2

(a) Kolkata/ ShleTehrdr
(b) Bangalore/d3Tallk
(c) Delhi/fgeel

(d) Mumbai/ Ha$

52. Who is the CEO of Niti Aayog ?
AT 3TATET o HEAT HRISRT ISR it g2

(a) Rajiv KumarRTsiig AR

(b) Arvind Panagariya/3Rideg qefarigar
(c) Amitabh Kant/3ifHdms e

(d) Raghuram Rajan/TEITH IsTet

53. With which game Neymar is associated?

A FhE W & 3T 87
(a) Cricket/fShehe (b) Football/Hediel
(c) Tennis/cfad (d) Hockey/gieht

54. Davos is associated mostly with the Meeting of the following:-
crae HEgd: e Mfder @ Sr 82
(a) ILO/3TE Tel 37T
(b) UNESCO/3=1EahT
() WTO/See[ &1 37

(d) OIC/3iT 3ms &
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